
X20'23パーツリスト

品番 品名 税別定価
SER110104 M3x8皿ﾋﾞｽ(10Pcs/六角穴) 800
SER110108 ﾗｳﾝﾄﾞ六角穴M3x6ﾋﾞｽ (10Pcs) 800
SER110114 ﾎｰﾛｰﾋﾞｽ M3x8 (10Pcs) 600
SER110119 ﾎｰﾛｰﾋﾞｽ M4x6 (10Pcs) 600
SER110122 M3x6 皿ﾋﾞｽ(10Pcs/六角穴) 800
SER110127 M3x12皿ﾋﾞｽ (10Pcs/六角穴) 800
SER110128 ﾗｳﾝﾄﾞ六角穴M3x5ﾋﾞｽ (10Pcs) 800
SER110136 M2.5x8皿ﾋﾞｽ (10Pcs/六角穴) 700
SER110162 ﾎｰﾛｰﾋﾞｽM3x2.5 (10Pcs) 1300
SER110164 ﾗｳﾝﾄﾞ六角穴M3x4ﾋﾞｽ (10Pcs) 800
SER110165 ｷｬｯﾌﾟﾎﾞﾙﾄM2x5 (10) 800
SER110166 M2.5x5皿ﾋﾞｽ (10) 800
SER110167 ﾌﾗﾝｼﾞﾗｳﾝﾄﾞﾍｯﾄﾞﾋﾞｽM3x18 800
SER110208 ﾋﾟﾝ nra 2x9.8 (4) 550
SER110220 ﾋﾟﾝ1.5ｘ8(10) 750
SER110230 ﾌﾗｯﾄﾍｯﾄﾞｽｸﾘｭｰM3x4(10) 750
SER110231 ﾌﾗｯﾄﾍｯﾄﾞｽｸﾘｭｰM3x10(10) 850
SER110239 ﾌﾗｯﾄﾍｯﾄﾞｽｸﾘｭｰM2.5x5(10) 1000
SER110300 Eﾘﾝｸﾞ 2.3 (10Pcs) 650
SER110311 CｸﾘｯﾌﾟR9 800
SER110312 EﾘﾝｸﾞR1(10) 700
SER110409 ｼﾑ　3×5×1（10） 1600
SER110410 ｼﾑ　3×5×2（10） 1700
SER110433 ｼﾑ12×15×0.25(10) 1200
SER110445 ｼﾑ4x10x0.2 (10) 1000
SER110452 M4ﾌﾗﾝｼﾞﾅｯﾄ(10) 750
SER110468 ｼﾑ　5x6.5x2（10） 2800
SER110509 ﾍﾞｱﾘﾝｸﾞ1.5x4x2(2) 1100
SER110512 ﾍﾞｱﾘﾝｸﾞ1.5x4x1(2) 1400
SER120007 ｽﾊﾟｰｷﾞｱ64P/100T 1400
SER120008 ｽﾊﾟｰｷﾞｱ64P/104T 1400
SER120009 ｽﾊﾟｰｷﾞｱ64P/108T 1400
SER120010 ｽﾊﾟｰｷﾞｱ64P/112T 1400
SER120012 ｽﾊﾟｰｷﾞｱ64P/114T 1400
SER120013 ｽﾊﾟｰｷﾞｱ64P/106T 1400
SER120040 ｽﾊﾟｰｷﾞｱ64P/110T 1400
SER1311 ｸﾗｯﾁﾍﾞｱﾘﾝｸﾞ【5x8/2pcs】 900
SER1397 ﾍﾞｱﾘﾝｸﾞ【8x12x3.5/SS/2ｹ】 800
SER1399 ﾍﾞｱﾘﾝｸﾞ【ﾌﾗﾝｼﾞ3x6x2.5/2ｹ】 950
SER160146 ﾋﾞｯｸﾞﾎﾞｱｵﾝﾛｰﾄﾞｼｮｯｸ X-ring (4) 1200
SER160154 ｽﾌﾟﾘﾝｸﾞｻﾎﾟｰﾄ　ｵﾝﾛｰﾄﾞ(4) 700
SER1650 ﾃﾌﾛﾝﾎﾞｰﾙ【6㎜/4pcs】 1600
SER1667 ﾎﾞﾃﾞｨｸﾘｯﾌﾟ【ﾐﾃﾞｨｱﾑ/10pcs】 650
SER401124 ﾎﾞｰﾙﾍﾞｱﾘﾝｸﾞ【3x6mm/2pcs/S400用】 850
SER401131 ﾍﾞｱﾘﾝｸﾞ5x10x3(2) 1000
SER401372 ｻｰﾎﾞﾚﾊﾞｰ 1200
SER401387 ﾎｲﾙﾊﾌﾞ 1㎜ｵﾌｾｯﾄ 2ｹ 1500
SER401429 ｱﾙﾐﾀｰﾝﾊﾞｯｸﾙ 2ｹ　M3x38 1400
SER401430 ｱﾙﾐｷｬﾝﾊﾞｰﾘﾝｸ 2ｹ 1400
SER401588 ｽﾁｰﾙｽﾃｱﾘﾝｸﾞﾎﾟｽﾄ S411Eryx (2) 1100
SER401594 ﾃﾞﾌｷﾞｱ 10T+18T 401592用 1200
SER401784 ﾃﾞﾌｶｯﾌﾟｼｰﾙ 5x9x2 (2) 1100
SER401807 ﾎﾞｰﾙｼﾞｮｲﾝﾄｾｯﾄ　X20 1500
SER401808 ﾋﾟﾎﾞｯﾄﾎﾞｰﾙｼｬﾌﾄ(12) 4000
SER401809 ﾋﾟﾎﾞｯﾄﾎﾞｰﾙｼｬﾌﾄ ｼｮｰﾄ(6) 2200
SER401811 ﾛｰﾌﾘｸｼｮﾝﾍﾞﾙﾄ30S3M348 1600
SER401813 ｱﾝﾁﾛｰﾙﾊﾞｰｽﾍﾟｰｻｰ(2) X20 1400
SER401814 ｻｽﾍﾟﾝｼｮﾝﾋﾟﾎﾞｯﾄﾎﾞｰﾙ(8) X20 5000
SER401825 ﾍﾞｱﾘﾝｸﾞｴｷｾﾝﾀｰ(4) X20 900
SER401833 ﾌﾞｯｼｭ 3ｘ6ｘ3(2) 600
SER401835 ﾀﾞﾝﾊﾟｰｶｰﾄﾘｯｼﾞ(4) X20 1800
SER401838 ﾀﾞﾝﾊﾟｰﾎﾞﾄﾑｷｬｯﾌﾟ(2) X20 1600
SER401849 ｱﾙﾐｽﾃｱﾘﾝｸﾞﾚﾊﾞｰ(2) X20 6600
SER401850 ｱﾙﾐｽﾃｱﾘﾝｸﾞﾗｯｸ X20 4100
SER401852 ﾀﾞﾝﾊﾟｰｽﾌﾟﾘﾝｸﾞ2.5 (2) (SER401852) 800
SER401853 ﾀﾞﾝﾊﾟｰｽﾌﾟﾘﾝｸﾞ2.6 (2) (SER401853) 800



SER401854 ﾀﾞﾝﾊﾟｰｽﾌﾟﾘﾝｸﾞ2.7 (2) (SER401854) 800
SER401855 ﾀﾞﾝﾊﾟｰｽﾌﾟﾘﾝｸﾞ2.8 (2) (SER401855) 800
SER401856 ｱﾝﾁﾛｰﾙﾊﾞｰ1.2mm X20 550
SER401857 ｱﾝﾁﾛｰﾙﾊﾞｰ1.3mm X20 550
SER401858 ｱﾝﾁﾛｰﾙﾊﾞｰ1.4mm X20 550
SER401859 ｱﾝﾁﾛｰﾙﾊﾞｰ1.5mm X20 550
SER401866 ｶｰﾎﾞﾝｼｬｼｰｽﾃﾌﾅｰ ｾﾝﾀｰ/ﾐｯﾄﾞ X20 1200
SER401894 Lipoﾏｳﾝﾄ ﾎﾞﾄﾑ (2) X20 1800
SER401904 ﾎﾞﾃﾞｨﾏｳﾝﾄ ﾛﾝｸﾞ (2) 700
SER401913 ｱｼﾞｬｽﾀﾌﾞﾙﾘｱﾌﾞﾚｰｽ 3000
SER401920 ﾊﾞﾝﾊﾟｰﾎﾟｽﾄ(2) X20 '21 450
SER401921 ｳﾚﾀﾝﾊﾞﾝﾊﾟｰ X20 '21 800
SER401922 ｽﾃｱﾘﾝｸﾞｲﾝｻｰﾄ(2) X20 '21 4500
SER401923 ｽﾃｱﾘﾝｸﾞﾌﾞﾛｯｸ L+R X20 '21 1300
SER401924 ｽﾃｱﾘﾝｸﾞﾚﾊﾞｰ(2) X20 '21 2000
SER401925 ｽﾃｱﾘﾝｸﾞﾌﾞﾛｯｸｽﾍﾟｰｻｰｾｯﾄ(4+4) X20 '21 1700
SER401928 ｻｰﾎﾞﾏｳﾝﾄ X20 '21 4900
SER401931 ｻｽﾍﾟﾝｼｮﾝｽﾍﾟｰｻｰ 1mm (2) X20 '21 750
SER401933 ｱｼﾞｬｽﾄﾅｯﾄ 5mm (4) 650
SER401935 DJC BBﾎｲﾙｱｸｽﾙ(2) 2000
SER401936 DJC BBﾄﾞﾗｲﾌﾞｼｬﾌﾄ(2) 2100
SER401938 DJC/CVD BBｶﾌﾟﾗｰ(2) 5900
SER401941 CVD BBﾄﾞﾗｲﾌﾞｼｬﾌﾄ(2) 2100
SER401942 CVD BBｱﾙﾐﾄﾞﾗｲﾌﾞｼｬﾌﾄ (2) 2200
SER401945 BBｿﾘｯﾄﾞｱｸｽﾙｶｯﾌﾟ (2) X20 3900
SER401954 ｶｰﾎﾞﾝﾊﾞﾝﾊﾟｰﾌﾟﾚｰﾄ X20 '21 1800
SER401955 ﾌｧﾝﾏｳﾝﾄｾｯﾄ X20 '21 4400
SER401956 ﾌｧﾝﾏｳﾝﾄ X20 1600
SER401957 ﾌｧﾝﾎﾙﾀﾞｰ X20 3000
SER401968 ｼｬｼｰｳｪｲﾄ 10g (2) X20 4200
SER401997 ﾊﾞﾝﾊﾟｰｾｯﾄ 3600
SER401998 ﾊﾞﾝﾊﾟｰﾄｯﾌﾟ ｶｰﾎﾞﾝ 2800
SER402000 Oリング 20ｘ1(10) 1600
SER402011 ｼｮｯｸｾｯﾄ　X20'23 11000
SER402012 ｼｮｯｸﾋﾟｽﾄﾝ4穴(4) X20'23 2300
SER402013 ｼｮｯｸｼｬﾌﾄ(2) X20'23 2300
SER402014 ｼｮｯｸﾎﾞｰﾙｼﾞｮｲﾝﾄ(2) X20'23 700
SER402015 ｼｮｯｸﾄｯﾌﾟ （4）X20'23 850
SER402016 ｱｼﾞｬｽﾄﾅｯﾄ(2) X20'23 2200
SER402017 ﾀﾞｲﾔﾌﾗﾑ(4) X20'23 1200
SER402018 ｼｮｯｸﾄｯﾌﾟﾅｯﾄ（2) X20'23 2400
SER402019 ｼｮｯｸﾎﾞﾃﾞｨ(2) X20'23 3600
SER402020 ﾄｯﾌﾟﾃﾞｯｷｲﾝｻｰﾄ(2) X20'23 2500
SER402021 ﾋﾟﾎﾞｯﾄﾎﾞｰﾙ(6) X20'23 4800
SER402022 ｶｰﾎﾞﾝﾒｲﾝｼｬｼｰ X20'23 19800
SER402023 ｱﾙﾐﾒｲﾝｼｬｼｰ ｿﾌﾄ X20'23 24000
SER402024 ｻｽﾍﾟﾝｼｮﾝｲﾝｻｰﾄ 0.5度(4) X20'23 4300
SER402025 ｻｽﾍﾟﾝｼｮﾝｲﾝｻｰﾄ 0-1度(4) X20'23 4300
SER402026 ﾌﾛﾝﾄﾛｱｱｰﾑ L+R X20'23 1700
SER402027 ﾌﾛﾝﾄｱｯﾊﾟｰｱｰﾑ(2) X20'23 1500
SER402028 ﾘｱﾛｱｱｰﾑ L+R X20'23 1700
SER402029 ﾘｱｱｯﾊﾟｰｱｰﾑ(2) X20'23 1500
SER402030 ｶｰﾎﾞﾝﾛｱｱｰﾑｽﾃﾌﾅｰ S（4） X20'23 9000
SER402031 ｶｰﾎﾞﾝﾛｱｱｰﾑｽﾃﾌﾅｰ M（4） X20'23 5800
SER402032 ｶｰﾎﾞﾝﾛｱｱｰﾑｽﾃﾌﾅｰ H（4） X20'23 9000
SER402033 ﾌﾛﾝﾄﾀﾞﾝﾊﾟｰｽﾃｲ X20'23 3900
SER402034 ﾘｱﾀﾞﾝﾊﾟｰｽﾃｲ X20'23 5300
SER402035 ﾍﾞｱﾘﾝｸﾞﾌﾞﾛｯｸ L+R X20'23 11000
SER402036 ｽﾃｱﾘﾝｸﾞﾌﾞﾛｯｸｲﾝｻｰﾄ -1.5(2) X20'23 7500
SER402037 ｽﾃｱﾘﾝｸﾞﾌﾞﾛｯｸﾏｳﾝﾄ(2) X20'23 6200
SER402038 ﾓｰﾀｰﾏｳﾝﾄ X20'23 9600
SER402039 ｿﾘｯﾄﾞｱｸｽﾙｾｯﾄ X20'23 6500
SER402040 ｿﾘｯﾄﾞｱｸｽﾙ X20'23 1000
SER402041 ｶｰﾎﾞﾝﾄｯﾌﾟﾃﾞｯｷ X20'23 6500
SER402042 ｱｯﾊﾟｰｻｽﾍﾟﾝｼｮﾝﾌﾞﾗｹｯﾄ(2) X20'23 9300
SER402043 ｱｯﾊﾟｰｻｽﾍﾟﾝｼｮﾝﾌﾞﾗｹｯﾄｼﾑ(4) X20'23 3300
SER402044 ｱﾙﾐｷﾞｱﾃﾞﾌｾｯﾄ X20'23 16800
SER402045 ｱﾙﾐﾃﾞﾌﾊｼﾞﾝｸﾞ X20'23 9800
SER402046 ｱｳﾄﾄﾞﾗｲﾌﾞｼｬﾌﾄ(2) X20'23 2900



SER402047 Xｼｬﾌﾄ SER402044用 600
SER402048 ｱﾙﾐｱｳﾄﾄﾞﾗｲﾌﾞ(2) SER402044用 3300
SER402049 38Tﾌﾟｰﾘｰ+ｼﾑ SER402044用 1100
SER402050 DJC BBﾄﾞﾗｲﾌﾞｼｬﾌﾄｾｯﾄ(2) X20'23 23000
SER402051 CVD BBﾄﾞﾗｲﾌﾞｼｬﾌﾄｾｯﾄ(2) X20'23 14800
SER402052 CVD BBｱｸｽﾙ(2) X20'23 3200
SER402053 DJC BBｱｸｽﾙｱﾙﾐｽﾘｰﾌﾞ(2) SER402053 2600
SER402054 DJC/CVD BBｶﾌﾟﾗｰ(2) X20'23 5800
SER402055 DJCｸﾘｯﾌﾟ(8) X20'23 800
SER402056 ﾄﾞﾗｲﾌﾞｼｬﾌﾄｸﾘｯﾌﾟ(4)X20'23 1000
SER402057 ﾘﾎﾟﾏｳﾝﾄｾｯﾄ(2)X20'23 8200
SER402058 ﾘﾎﾟﾏｳﾝﾄｶｰﾎﾞﾝﾄｯﾌﾟ(2) X20'23 2200
SER402059 ﾘﾎﾟﾏｳﾝﾄ(2) X20'23 700
SER402060 ﾘﾎﾟﾏｳﾝﾄﾄｯﾌﾟﾎﾙﾀﾞｰ(2) X20'23 700
SER402061 ﾄﾗｯｸﾛｯﾄﾞM3x42(2)X20'23 2400
SER402062 19Tﾐﾄﾞﾙﾌﾟｰﾘｰ X20'23 5500
SER402063 ﾄｯﾌﾟﾃﾞｯｷｾｯﾄ ｿﾌﾄ X20'23 4800
SER402064 ﾄｯﾌﾟﾃﾞｯｷｾｯﾄ ﾊｰﾄﾞ X20'23 4800
SER402065 ﾄｯﾌﾟﾃﾞｯｷｽｸﾘｭｰ(2) X20'23 2400
SER402066 ﾓｰﾀｰﾏｳﾝﾄｳｪｲﾄ 5g X20'23 2800
SER402067 ﾓｰﾀｰﾏｳﾝﾄｳｪｲﾄ 10g X20'23 3600
SER402068 ｼｬｼｰｳｪｲﾄ 5g(2) X20'23 3900
SER402069 DJC BBｱｸｽﾙｽﾘｰﾌﾞ(2) X20'23 6200
SER402070 DJC BBｱﾙﾐﾄﾞﾗｲﾌﾞｼｬﾌﾄ(2) X20'23 4600
SER411219 ﾌﾛﾝﾄｽﾌﾟﾘﾝｸﾞ　18lbs 700
SER411253 ﾋﾟﾎﾞｯﾄﾎﾞｰﾙ 4.5mm (4) 1700
SER411337 ｷｬｽﾀｰｲﾝｻｰﾄ 750
SER500211 ﾘｱﾎｲﾙﾊﾌﾞ+0.75mmｵﾌｾｯﾄ(2) 1500
SER500693 ﾎｲﾙﾊﾌﾞ-2mm (2) SRX2 Gen3 1600
SER802361 ﾘｱｱｼﾞｬｽﾀﾌﾞﾙﾎﾞﾃﾞｨｰﾏｳﾝﾄｾｯﾄ【747/748用】 950
SER804176 ｷﾞﾔﾃﾞﾌXﾘﾝｸﾞ4pcs【747/748用】 600

V22.08

仕様・価格は予告なく変更する場合があります。


